Env. Sci. Prometric #1 Answer Key
1. (D)  Species diversity, ecological diversity, and functional diversity are all important components of biodiversity. Genetic diversity is a fourth component.
2. (A)  Succession is the process of ecological change, whereby new biotic communities replace old ones over time. Facilitation, inhibition, and intolerance are three models of how this change occurs.

3. (D)  A group of individuals of the same species that live within the same place at the same time is a population.

4. (C)  Random change in DNA molecules making up genes that can alter anatomy, physiology, or behavior in offspring is called mutation.

5. (C)  An ecosystem consists of a community of various species interacting with each other, the non living environment (water, soil, etc.), and energy.

6. (C)  Animals that eat producers are called primary consumers. Examples include deer, rabbits, zooplankton, and grasshoppers.

7. (D)  A generalist species can use of a variety of different resources and thrive in a wide variety of environmental conditions. Examples include flies and mice.

8. (A)  Detritus feeders, such as earthworms, feed on the dead bodies and wastes of other organisms.

9. (B)  Energy is transferred through food chains and food webs. At each succeeding feeding level the amount of chemical energy available to organisms decreases.

10. (C)  About two-thirds of people in the world survive by primarily eating at the first trophic level.

11. (A)  One percent of the air within the troposphere includes the greenhouse gases methane, water vapor and carbon dioxide.

12. (B)  Genetic resistance is the ability within a population for one or more organisms to tolerate a chemical that was designed to kill it.

13. (A)  Tropical rain forests, found near the equator, are lush because of warm temperatures year-round, high humidity, and rain almost every day.

14. (C)  Indicator species are species that show damage that has occurred to an ecosystem or community quickly. Birds are affected very quickly by changes in the environment.

15. (B)  The water cycle involves three major processes: evaporation, precipitation, and transpiration.

16. (A)  Currently, about 4% by weight of all plastic wastes in the United States is recycled.

17. (B)  About three-fourths of the world's commercially valuable fish stocks are overexploited.

18. (B)  Today 79% of Americans and almost 50% of the world's people live in urban areas.

19. (A)  Weather refers to the day-to-day temperature, precipitation activity, or wind speed, whereas climate is the term for those average conditions over longer periods of time.

20. (D)  Desertification is recognized as a major threat to biodiversity and water shortages can result thus causing poor harvests.  This would definitely NOT result in a decrease in poverty.
21. (C)  The concentration of motor vehicles and industry in urban centers disrupts local and regional portions of the carbon cycle and disrupts the nitrogen cycle.

22. (C)  Altering genetic material to create traits that are desirable or eliminate traits that are undesirable is called genetic engineering.

23. (D)  Human activities that release carbon dioxide, methane, and nitrous oxide into the atmosphere include burning fossil fuels, clearing forests, and growing crops.

24. (B)  Incineration of municipal solid wastes provides an efficient way to reduce the volume of waste. However, the disadvantages do not usually outweigh this advantage.

25. (A)  Change in the earth's climate is caused when large amounts of chemicals are released in the lowest area of the atmosphere, the troposphere and by depleting the ozone in the stratosphere.

26. (D)  Common pollutants that seep into groundwater from numerous sources include fertilizers, gasoline, and organic solvents.

27. (D)  China burns one-third of the world's coal. Some of the consequences of this include large amounts of carbon dioxide emissions, acid precipitation in China and in other countries, and large amounts of sulfur dioxide which causes respiratory disease.

28. (D)  Three major factors contributing to the rapid growth in human population over the past 200 years are the ability to expand into different climate zones, early and modern agriculture which contributed to food production, and things such as vaccines, antibiotics, and sanitation systems that were the results of public health improvements.

29. (D)  Cultural eutrophication is an unnatural speeding up of the eutrophication process caused by man's addition of phosphates, nitrogen, and sediment to the water.

30. (B)  Trees take groundwater through their roots and release it into the atmosphere. When deforestation occurs, there are no longer trees to collect and evaporate away this water, resulting in a drier climate.

31. (B)  Composting is the biological process of breaking up organic waste such as food waste, leaves, grass trimmings, etc., into a humus-like substance by various microorganisms including bacteria, fungi and actinomycetes.

32. (D)  In a septic system, household sewage and wastewater is pumped into a settling tank, called a septic tank. Grease and oil rise, solids fall to the bottom and are decomposed by bacteria.

33. (A)  One or more crops planted together in strips between trees and shrubs to provide shade is an example of alley cropping or agro forestry. The potential benefits include the provision of shade which then reduces water loss from evaporation and helps with retention of soil moisture.

34. (D)  Deficiencies to air pollution control laws include: ultrafine particulates are not regulated, urban ozone levels are still too high, and airports are exempt from many air pollution regulations.

35. (A)  Coal is not a renewable resource.

36. (C)  The World Health Organization estimates that 1.2 billion people have no access to clean drinking water.

37. (A)  Between 1961 and 1985 food production increased by 31% per capita. Generally, it has decreased since then.

38. (C)  Transportation accounts for two-thirds of the United States' oil consumption.

39. (B)  Food waste is an example of municipal solid waste. Municipal solid waste is waste from households or commercial waste similar to waste that comes from households, excluding hazardous materials.

40. (D)  Bringing in natural predators of the pests, implanting genetic resistance, and using insect perfumes are effective alternative pest and disease control methods.

41. (C)  Industrial ecology describes the exchange of materials between different industrial sectors where the waste output of one industry becomes the feedstock of another. An industrial ecosystem is a network of companies and other organizations in a region who exchange and make use of the byproducts or energy of each other.

42. (B)  Green architecture makes use of natural lighting, passive solar heating, and recycled building materials in an attempt to minimize harming human health or the environment. Natural building focuses on the use of natural materials that are available locally.

43. (C)  If harvested, burned, and replanted sustainably, burning solid biomass as fuel can result in a zero net increase in carbon dioxide.

44. (C)  The United States raises and kills nearly 10 billion animals per year, even though the U.S. only has about 4.5% of the world's population, or just over 307 million residents.

45. (A)  Geothermal energy is heat derived from the earth’s interior, such as that stored in soil, in underground rocks, and in fluids in the earth's mantle.

46. (D)  The IPCC and EEA are international environmental agencies. OSHA is dedicated to the safety of workers in the United States. The EPA (Environmental Protection Agency) is the US agency dedicated to the environment.
47. (C)  Agricultural activities are the leading cause of water pollution.

48. (D)  The United Nations Environment Programme works on a global scale to coordinate environmental activities. The EEA is the environmental agency of the European Union. The IPCC is concerned with climate change; and the WHO works on health issues.

49. (C)  Although each of the options given are important environmental issues, over population is considered the greatest environmental issue because it's impact on the other options.

50. (A)  De-emphasizing education will not help to stimulate short or long term use of a particular energy resource. Education is seen as crucial to stimulate use of newer energy options and technologies.
